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Black, probably expecting White to resign (Elijah Williams – Daniel Harrwitz), would have been shocked by White’s next move which secures a quick draw:
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Tristan Boyd failed to clinch the WA Championship last Sunday, dropping his first half point against John Fedec while Jay Lakner defeated Tim Hare to trail Tristan by one point with one round to go.  Round 9 top boards: Boyd (7.5) – Haselgrove (5.5), Lakner (6.5) - Fedec (5.5), Hardegen (6) - Hare (5.5). Ten year old Ryan Sam continued his excellent run with a hard fought victory against Franz Oswald while another primary student Caleb Thomas had an impressive win against veteran Ron Bailye. The following game should have been published a fortnight ago with the Round 6 results but unfortunately I was unable to decipher the two players’ scoresheets at the critical stage. However the winner upon request sent me a corrected version of the game, well played by both players apart from a mutual hiccup on move 28:
Mark  Vliestra   -   Srdja  Stepanovic

2006 WA Championship, Round 6

Sicilian Defence, Najdorf Variation

1.e4         c5 

2.Nf3        d6

3.d4         cxd 

4.Nxd4      Nf6

5.Nc3       a6

6.Bg5        e6

7.f4          Be7 

8.Qd2        h6

9.Bxf6      Bxf6 
10.0-0-0    Be7

11.Kb1     Qc7 
12.g4         Nc6

13.h4        Bd7 
14.f5          Rc8(a)
15.fxe       fxe 

16.Nxc6     Qxc6

17.Bg2      Qc5 
18.e5          d5(b)
19.Qd3      Kd8 
20.Rh3(c)   Kc7

21.Qg6      Kb8 
22.h5          Rhg8
23.Rhd3    Qc6 
24.Qf7        Bb4

25.Qf4      Qb6(d) 
26.Bxd5!    Bxc3

27.Bb3      Rgf8 
28.Qg3?(e) Bxb2?

29.Kxb2    Bc6 
30.Qe3(f)   Qb4

31.Qd4      Qe7 
32.Qd6+     Qxd6 

33.Rxd6    Bd5 
34.Bxd4     exd5

35.R1xd5  Rf2 
36.Rd2       Rxd2

37.Rxd2    Kc7 
38.e6          Rd8(g)
39.Rxd8    Kxd8 
40.Kc3       Ke7

41.Kd4      Kxe6 
42.Kc5       Kd7

43.Kb6      Kc8 
44.a4          Kb8

45.a5         Kc8 
46.c4          Kb8

47.c5         Kc8 
48.c6          bxc

49.Kxc6    Kb8 
50.Kb6(h)      

a) Black could play 15…0-0-0 which would avoid the necessity of ‘castling by hand’ moves 19-21.

b)18…Qxe5! leads to a very wild position, eg 19.Rhe1 (19.Bxb7 Rc7 20…0-0 creates excellent attacking chances for Black’s rooks) 19…Qa5 20.Bd5! Rxc3! 21.Bxe6! Qb4 or Ra3 22.Bxd7+ Kd8! (22.Kxd7? 23.Rxe7+!). 
c) Playable is 20.Bxd5! exd5 21.Nxd5 Bxg4! 22.Ne3+ Kc7 23.Nxg4.
d) 25…Ba5 would prevent the following combination.  

e) 28.Qh2 should be played as Black keeps his extra piece after 28…Bd4!! (29.Rxd4 Qxd4! or 29.c3 Bf2).

f) The exchange of queens will expose the weakness of Black’s e pawn. If now 30…Qb5 31.a4.

g) Black manages to regain the pawn but White’s more aggressive king will guarantee victory. 
h) and wins (50…Kc8 51.Kxa6 Kc7 52.Kb5 resigns).  An imaginatively played game.

SOLUTION: 1.Rb3!! 1…K/Rxb3 is stalemate while a rook retreat is met by 2.Rxc3+! =.
